| Efficiency vs Dxy |

.05
Pad
j®)
@045
>
D.04
D
035
T
0.03
0.025
0.02
0.015

.................................

0.0
0.005

........................................................................

...................................

o+

Rat
=
!

0.95

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

| Efficiency vs Dz |

T T retram

It_TT_NEWdefault_specPLessl
it EWdefault_specPLess2
EWdefault_specPLess3

T

~N 0.1
©
9.09
Py
Hos
(&)
.07
()
0.06
0.05
0.04
0.03

0.02

0.0

...............................................

—“NEWdefault“specPLess4

o+

2030
TP dz (cm)

10




	Contents
	Page 1


